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AT § S8Y

nar
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104 void Send_GraphWndLine (void)
105 ¢
I uint8 t cRb, cBb, cGb:
107 int 18X,i5Y,iEX,iEY;
108 float fR,fG,fR;
1 int ipX,ip¥:
110 int ipw,ipH;

cRb = random(10, 255): cBb = random(10, 255): cGb = random(10, 255):
©  isX = random(GraphWnd.sx, GraphWnd.ex): /// wx -> endX,
114 iEX = random(GraphWnd.sx, Graphwnd.ex):
S iSY = random(GraphWnd.sy, GraphWnd.ey):
¢ iEY = random(Graphwnd.sy, Graphwnd.ey):

ipX = min( isX, iEX);

9 ipY = min( isY, iEY);
120 ipW = max(iEX, isX) - ipx;
1 ipH = max(iEY, iSY) - ip¥:

123 seriall.printf ("RR %d,%d, %d, %d, %d, %d, 8d, %d, 1\r", ipX, ipY, ipW, ipH, 2, cRb, cGb, cBb): /// C
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/xx=== RP2040 PICO-W ====:xx
« RS232-TTL with RP2040 Pico W
+ Demo , Random/EGL Graphic Draw Demo
x Touch Get IN, [STOP] / [Redraw]
= PIN 21, (GP16), TXD RS-TTL-OUT
= PIN 22, (GP17), RXD RS-TTL-IN
ok
/
#include <Arduino.h>

#define HR_IMAGE_BOX_WIDTH (158)

#define HR_IMAGE_BOX_HEIGHT  (158)

#define HR_IMAGE_LOAD_MSG "ia 1,horse_run.bmpWr"

#define  HR_IMAGE_CUT_SHOW_MSG "ico 1,100,100,%d,%d,%d,%dWr"
#define  HR_IMAGE_UNLOAD_MSG  "ix 1Wr"

Ntypedef unsigned char UBYTE ;

typedef struct {

int nTouchID;

int sx, sy:

int ex, ey

char czStrTitle[801;
}IDWrect;

/e
* Random Seed,
DrawBar_Graphc (Building-Shape-box~-Fill-poly)
Random-build-BOX, Window Rect chart,
-/l

R

P
* MainButton Center Touch  [STOP]/[ReDraw]
* [RUN] [STOP] [CLEAR]

skt ]

NIDWrect GraphWnd = {
88, 15,15, 785,350, "Graph Window" //// graphic draw area.

HIDWrect BtnBoxList[4] =

1, 80,390, 220, 430, "RUN "}, //// RUN-BOX,
2,290,390, 420, 430, "STOP" }, //// STOP-BOX,
3, 520,390, 680, 430, "CLEAR" }, //// CLEAR-BOX,
0,0 ,0, 0, 0,"} //// empty-final-data

int CenX,CenY, WidX, WidY;
Iuint8_t nRGB_r, nRGB_g, nRGB_b;
int nWndLeft, nWndRight, nWndTop, nWndBottom;
/++ RS232-String buffer #/
char rs232_czStrBuf[2501={""};
char Xsbuf[512];
String strTouchRecv;
/

HR_IMAGE_BOX_WIDTHx*2, HRLIMAGE,BOX,WIDTH*S }i //// Image Box-Width
int GridY_Pos[4] = { 0, HR_LIMAGE_BOX_HEIGHT ,
HR_IMAGE_BOX_HEIGHT=*2, HR_LIMAGE_BOX_HEIGHT=*3 }; //// Image Box-Height

Iint GridX_Pos[4] = { 0, HR_LIMAGE_BOX_WIDTH

void setup() {
// put your setup code here, to run once:
Serial.begin(115200);

Seriall.setRX(17);

Seriall.setTX(16);

Seriall.begin(115200); //// or 9600 etc
randomSeed(analogRead(0)); //// random useing...

lint is_RectWnd(int newX, int newY, IDWrect *pWndRect )
{

if ( (newX >= (pWndRect->sx)) && ( newX <= (pWndRect->ex)) )H{
if ( (newY >= (pWndRect->sy)) && (newY <= (pWndRect->ey))) {
return 1; ///// TRUE;

} else return 0; //// FALSE

}else {

return 0; // FALSE
i
//
fint getid_TouchWndPos( int tpX, int tpY, IDWrect *pWndRect )

{

if ((tpX >= (pWndRect->sx)) && ( tpX <= (pWndRect->ex)) ){
if ((tpY >= (pWndRect->sy)) && (tpY <= (pWndRect->ey))) {
return pWndRect->nTouchID; ///// TRUE window area BOX-ID
}else return 0; //// Where Pos ?
}else {
return 0; //// Where is Pos

i




//

void Send_Buzz(void)

////sprintf(Xsbuf, "b 1Wr");
Seriall.printf("b 1Wr" );
i

//
void Send_GraphWndLine(void)
{

uint8_t cRb, cBb, cGb:
int iSX,iSY,iEX,EY;
float fR,fG,fB;

int ipX,ipY;

int ipW,ipH;

cRb = random(10, 255); ¢Bb = random(10, 255); ¢Gb = random(10, 255);
iSX = random(GraphWnd.sx, GraphWnd.ex); /// wx => endX,

iEX = random(GraphWnd.sx, GraphWnd.ex);

iSY = random(GraphWnd.sy, GraphWnd.ey);

iEY = random(GraphWnd.sy, GraphWnd.ey);

ipX = min( iSX, iEX);
ipY = min( iSY, iEY);
ipW = max(EX, iSX) - ipX;
ipH = max(EY, iSY) - ipY:

Seriall.printf("RR %d,%d,%d,%d,%d,%d,%d,%d,1Wr", ipX, ipY, ipW, ipH, 2, cRb, cGb, ¢Bb); /// C x,y,r R.G.B

fR = cRb * 1.2f; fG = cGb * 1.2f; fB = cBb * 1.2f;

Serial1.printf("C %d,%d,%d,%d,%d,%d,1Wr", ipX+ 3, ipY+ 3, 2, min(fR,255), min(fG,255), min(fB,255) ); /// C x,y,r,R,.G.B
i
//

void Send_DrawCircle(int CenX, int CenY, int WidX, int WidY, UBYTE bR, UBYTE bG, UBYTE bB)
{

sprintf( Xsbuf, "C %d,%d,%d,%d,%d,%dWr", CenX, CenY, WidX, WidY, nRGB_r, nRGB_g, nRGB_b);
i

//
void Send_DrawPie(int StaX, int StaY, int EndX, int EndY, UBYTE bR, UBYTE bG, UBYTE bB)
{

sprintf( Xsbuf, "l %d,%d,%d,%d,%d,%dWr", StaX, StaY, EndX, EndY, nRGB_r, nRGB_g, nRGB_b);

void Send_DrawLeftArrow(int StaX, int StaY, int EndX, int EndY, UBYTE bR, UBYTE bG, UBYTE bB)
{

// rr box + ellipse + ellipse + rr box

int xOfs, yOfs;

xOfs = (EndX- StaX ) / 3;

yOfs = (EndY - StaY) / 4;

Seriall.printf("RR %d,%d,%d,%d,2,%d,%d,%d,0Wr", StaX+ xOfs , StaY+ yOfs , xOfs*2, yOfs*2, bR,bG,bB);

SerialL.printf("L %d,%d,%d,%d,%d,%d,%dWr", StaX+ 1, StaY+ yOfs+2, StaX+ xOfs, StaY+ 1, bR,bG,bB); // '/

SerialL.printf("L %d,%d,%d,%d,%d,%d, %dWr", StaX+ 1, StaY+ yOfs*2, StaX+ xOfs, StaY+yOfs#4-1, bR,bG,bB); // "W' back-slask
Seriall.printf("L %d,%d,%d,%d,%d,%d,%dWr", StaX+ xOfs, StaY+ 1, StaX+ xOfs, StaY+yOfs*4-1, bR,bG,bB); // 'W' horiz-line

i

void Send_DrawButton( IDWrect *pWndRect, UBYTE bR, UBYTE bG, UBYTE bB)
{

int nlen, nPixel;

int pStrX, pStrY;

char *prMsg;

int StaX, StaY, EndX, EndY, WidX, WidY:

// fill round-box

prMsg = pWndRect->czStrTitle;

StaX = pWndRect->sx; EndX = pWndRect->ex - StaX;

StaY = pWndRect->sy; EndY = pWndRect->ey - StaY:

SerialL.printf("RR %d,%d,%d,%d,5,%d,%d,%d,1Wr", StaX, StaY, EndX, EndY, bR, bG, bB);
WidX = pWndRect->ex - StaX; WidY = pWndRect->ey - StaY;

nlen = strlen( prMsg);

nPixel = nlen * 16; // FONT : 9 pixel width char. default::
pStrX = (StaX + WidX/2) - (nPixel / 2);

pStrY = (StaY + WidY/2) - 16 + 3; /// Font:: 16 pixel-Height:

if (nlen != 0){
Seriall.printf("fIWr");  /// 24x24, 16x24 , font large
Seriall.printf("fc 9,9,9Wr"); //// Drak-black-Color

Seriall.printf("f %s,%d,%dWr", prMsg, pStrX+ 1, pStrY+ 2);
Seriall.printf("fc 255,255,255Wr"); //// White Text
Seriall.printf("f %s,%d,%dWr", prMsg, pStrX, pStrY);
Seriall.printf("fsWr");  /// 16x16, 8x16 , font small

}else {

//// Seriall.printf("f LO!,%d,%dWr", pStrX, pStrY);

return;




//

void Send_DrawfillBox( IDWrect *pWndRect, UBYTE bR, UBYTE bG, UBYTE bB)
{

int pStrX, pStrY:
int StaX, StaY, EndX, EndY, WidX, WidY:

StaX = pWndRect->sx; EndX = pWndRect->ex — StaX;

StaY = pWndRect->sy: EndY = pWndRect->ey - StaY;

SerialL.printf("RR %d,%d,%d,%d,2,%d,%d,%d,1Wr", StaX, StaY, EndX, EndY, bR, bG, bB);
//// Seriall.printf("RR 15,15,770,335,2,63,63,63,1%r" ); //// back-gl-box-gray

flint get_CheckTouchKey(void)
{

char rdByte;

int32_t tlastpos;

String  tStrPoint="";
String  xStrDigit="";

long tRiX, tRiY:

int j;

int nIDbtn=(0); /// non-key

/// Serial get <t>...'t! and scanf("%d,%d", &posX, &posY);
while( Seriall.available() )
{

rdByte = Seriall.read();
strTouchRecv.concat (rdByte);
if (rdByte =="1") //// Touch-up,release-check
{

tlastpos = strTouchRecv.lastIndexOf("t(");

///if (strTouchRecv.substring("<t>") ==

if (tlastpos > 0) {

tStrPoint = strTouchRecv.substring(tlastpos);
Serial.print(tStrPoint);

xStrDigit = tStrPoint.substring(2); /// "t(" removing...
tRiX = xStrDigit.toInt();
tlastpos = tStrPoint.indexOf(',");
// Serial.printf("[s=%d", tlastpos);
if (tlastpos <=0) return (-1); /// error find ',' not..
xStrDigit = tStrPoint.substring(tStrPoint.indexOf(',")+ 1);
tRiY = xStrDigit.tolnt();
strTouchRecv ="";
Serial.printf("POS(%d,%d)| ", tRiX, tRiY);

//=== check-buttons— show-Windows
for(5=0; j < 4: j+ +){
nIDbtn = getid_TouchWndPos( tRiX, tRiY, &BtnBoxList[j] );
if ( nIDbtn > 0) break;

b
return nIDbtn;
return (-1); /// error-key
}else {
// if Crecv over size) clear !!
h
b
return (0); //// not load-key
i
/ ________________________________________________

void play_horse_loop(void)

static int nEntryCnt = 0;
static int eki=0, ekj=0;
int ij;

if (++nEntryCnt % 10 != 0) return;
if (eki < 4)
{

ekj = (ekj<4)? 1+ekj:0;
sprintf( rs232_czStrBuf, HR_IMAGE_CUT_SHOW_MSG, //
GridX_Poslekil , GridY_Poslekjl,
HR_IMAGE_BOX_WIDTH - 3, HR_LIMAGE_BOX_HEIGHT- 2 ); // X-grid line thickness .3, // Y-grid line thickness .2
////Serial.printf( "Out>>W"%sW" !! WnWr" | rs232_czStrBuf );
Seriall.printf( rs232_czStrBuf );
//

ekit++;
}else {
eki = 0;
b
i




/

void loop() {

// put your main code here, to run repeatedly:
int i, j,k,tmp, m;

int nKeyCode;

int nWorkMode=1;

reLoad_Main_SCREEN: ;

Seriall.printf("i test3.bmp,0,0Wr" );

Serial.printf(" Control Text Sending W'Horse Load ImageW'");
Seriall.printf( HR_LIMAGE_LOAD_MSG );

delay(250);

Send_DrawfillBox( &GraphWnd, 63,63,63): //// back-gl-box-gray
Send_DrawButton( &BtnBoxList[0], 255, 127, 39); /// Run,red-yello color
Send_DrawButton( &BtnBoxList[1], 34, 177, 76); /// Stop,green color
Send_DrawButton( &BtnBoxList[2], 0, 162, 232); /// Clear,blue color

////=== thin x3 => thick(3) arrow

Send_DrawLeftArrow( 480,390, 510, 430, 0,162,232);
Send_DrawLeftArrow( 481,392, 508, 428, 0,162,232);
Send_DrawLeftArrow( 482,394, 509, 429, 0,162,232);

///// Touch get-key-control LOOP:::

while(1)
{
///-= get touch read. Seriall , convert Touch IDCode
nKeyCode = get_CheckTouchKey();
if (nKeyCode !=(=1) ) ///! not key code or error get.
{
if (nKeyCode != 0) nWorkMode = nKeyCode;
1/
switch(nWorkMode)
{
case 0: break; /// idle-state
case 1: /// RUN
nWorkMode = 1; /// Next to run .. run...
Send_GraphWndLine();  /// box_fill-play
play_horse_loop(); /// horse-play
break:
case 2: /// STOP
nWorkMode = 0; /// Next to idle State
break:
case 3: /// CLEAR- reload
Seriall.printf("RR 15,15,770,335,2,63,63,63,1Wr" );  //// back-gl-box-gray
nWorkMode = 0: /// Next to idle State
goto reLoad_Main_SCREEN;
break:
defalut: break:;
delay(10);
h
11,

Serial.printf(">> conterol UnLoad Image. ");
Serial L.printf(HR_LIMAGE_UNLOAD_MSG);
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